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10th- (Mathematics)
TERM 1 Practice Questions-2021-22 =

WEEKLY REVISION ASSIGNMENT-12
1. AT B YIS i a3 b R 3IF 88 AT [T a=p*¢? W3 b=pg’, pW3 g WIH
After JE 37 g, b T HISH AHUSISI al I ?

If two integer a and b are written as a =p> q? and b=pq? ; p,q are prime numbers then is
H.C.F of (a,b) is

(a) pq (b) pq? (c) P& (d) p*q?
2. 2 __wremiwe fagus fid e 3 mmus 99T ?

27 x 5°

. , , 2489 )
At how many points the decimal representation of 2?— will end ?

X §5°

(a) 3 (b) 7 (c) 2 (d) 9

3. TWS SIUT P(x)=x2 + 7x + 10 B AT T AT W3 TEa6eS U393 |

Find sum and product of quadratic polynomial P(x) = x?+ 7x + 10

(a) 7, 10 (b)7,-10 (c)-7, 10 (d)-7,-10.

4. feg gag T g™ W3 439 AtME 3T 3 5993 I6 |G T wIufewr 3 :

The radius of a circle whose circumference and area are numerically equal is :

(a) 1 feaTgniF (Units) (b) 2 fEam 8T (Units)
(c) T &8 (Units) (d) 27T fearsu (Units)

5. faR weor & Agesr...n3....... @ fegarg gt i

The probability of happening of an event lies between ........ and ........

(a) 1and 2 (b)0and 1 (c)2and 3 (d)1and 3
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6. ffa R § Hes 3 waH At wlE & A< ©R |

Find the probability of getting a prime number on throwing a die.

(a)1/2 (b) 2/3 (c)1/3 (d)1

7. WIG fewAR &8 gag g P’ dedl d= 5570 e&] oy &1 s57e IS :

Length of an arc of sector ( having an angle P° at centre of circle ) with radius R is :

p p p p
(a) ﬁxmrr (b) ExZn’r (c) 360 X 2mr (d) ﬁxmrr

8. fafdg A3, A dag e dTa I 25 MiTa I W3 Td9 & AUIH Iy & Bt
24 AH 3 | Fag e wIa forA Uz a3 |

From a point A, the length of tangent to a circle is 24 cm and
distance of A from the centre is 25 cm. Find the radius of the circle.

(a) 7cm (b) 17cm (c) 49cm (d) 25cm
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9. f&a dag e fdah Augn Iy I AaEeM I& ?
How many tangents can a circle have ? X

(a)1 (b) 2 (c)3 (d) infinite ( W&3 )

10. Coff - ——— T HBTRI
Sin- 0
1
Find the value of Cof0 -
Sin- 0

(a) 0 (b) -1 (c) 2 (d) 1

f3ng g3 »ifzHg AE A
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